1. Va8-4v32+3VI2+ V50 S aV3+bhV2 O EZ 1A W a+b 9
@H2?

® -21 ® -1 @ 4 @ 9 ® 21



2. oA A 2% —ax+2b-4=0°]FZLx=-25 74 W, a+b
o] 3r2?

@ 2 @ -2 @1 @ -1 ® 4



X2—4x+2=0




@ 6.4 o] AlHFEL 0.8 o[t}



2k o] g el Pol x & F5HH?

Pl AN
_--oCm-~-~ _ z ~
/
I
3cm =
\\
@ 3cm @ 5cm ® 15cm
1
@ +15cm ® \/_5(3111

2



6.

a<0 ¥, Via? -

® -10a

@ -Ta

(=3a)? + (V=5a)*

® —4a






V42 < V3x
Stex =¥

© 470

@ 571

=l
=0

2ohe 1 B4 VB 7F 44T} HEg

® 674 @ 770 ® 871



9. =A% - =
= A Sl x 9
ot x 9] gho] R2l%
AL
/\1__?

D 2
x° =25
: 2 et
4
2 ?19 ® x2 =
=0.0016



10.

the 173 2ol 3 wel Polt 2 9l AZIE PQRS 7} Alek. AB
2 sldste] 443 Wk WL B, AD 2 8l45te] £4 43
b He P et @), 5

Kol 2wy} 2 A Bz|o] A AL9

P C 8§

’ \
/ AY
\

:VlQ Rl v
2 F3 A4) 5E ¢

<
<

(54 V2),F(3-V2)

OB @ E(G-V2),F4+ V2)
® E(4+ V2),F(4- v2)
® E

@ E(4-V2),F4+ V2)
(6-V2),F(2+ V2)



ok A

11.

— —
™ [ ANM | A
— —

£ sl
2 &

Q@ ©

%= [ %)
o

L0

b~ ~ |
E 5ok

_ E
3mm
2fo g

@ ©® ©



@ 8 ® 10 12 ® 14

@ 6



_2VEHAV2 o 2VE-AV2 ) Xy e
13. )5—7\/§ ,y—i\/§ Euﬂ,x+y-»]mL.
® V2 @ % ® ¥



14. o5 77159 BA2 9 dolof §27

® 12V3+5V5 @ 12V3+9V5 i

® 24V3+5V5 @ 24V3+9V5
// \
® 24V3+18V5 - -




15.

F % 450 g4 BAVL BA 27

oo

D V6+2<V6+3 @ 4-VT<2V7-2
® 2V3+3<6V3-5 @ 25— V8 < V20 +3+2

® 3+ V3<10- V12



EN 0 1 2 3 4
1.0 1.000 {1,005 (1,010 | 1,015 | 1,020
1.1 1.049 | 1.054 [ 1,058 | 1.063 | 1,068
1.2 1.095 (1,100 | 1,105 | 1.109 | 1.114
1.3 1,140 | 1,145 | 1,149 | 1,153 | 1,158
1.4 1,183 | 1,187 [ 1,192 | 1,196 | 1,200
1.5 1.225 11,229 |1.233 | 1.237 | 1,241
1.6 1.265 (1,269 |1.273 | 1.277 | 1,281
1.7 1,304 | 1,308 | 1,311 | 1,315 | 1,319
1.8 1,342 (1,345 | 1,349 | 1,353 | 1,356
1.9 1,378 1,382 | 1.386 | 1,389 | 1,393

@®© V1.91 @ 163

® +0.0172 @ V19.3

® +1.52+ 0.000142



17. AFTEAA V30 = 5477 & W, va = 0.05477 & T=5HE a 9
- FotH?

@ 3000 @ 300 ® 3 @ 0.3 ® 0.003



18. oA ax? - Tx+b 7t (2x-1) & (3x-2) & A= 71 W, ab 9
= F-otH?

@ 4 @ 7 ® 12 @ 15 ® 18



19. oA 2 fax+b = ©



20. x%y-y-2+2x? 9] 157t opd 229

D x-1 @ x+1 ® x2-1

@ y-2 ® y+2



21, (20 +1)*-(x-2)° = (3x+a)(x+b) & ™, a+3b o] Gk FoHA?

@® 4.5 @ 6 ® 7 @ 8 ® 9



22, U A X2+ (-2y43)x—(3y-1)(y+2) & Agafcte] U2 A
A= Hstd?

D 2x-2y+3 @ 2x-2y+1 @ 2x-3y+3

@ 2x-y+3 ® x-2y+3



23. x7}-2, -1, 0, 1, 294 o, FAA 2x2 - 5x +2 =09 F=?

© -2 @ -1 ® 0 @1 ® 2



ax> +bx+3 =09

@ 2 ® 3

SF o] k & ufj, ak? + bk + 5 2]

@ 4 ® 5



25. o FolA si7t x = 2 B x = -3¢0 oA A2

@O (x-2)(x+3)=0 @ (x+2)(x-3)=0
® (2x-1)(3x+1)=0 @ (2x+1)(3x-1)=0

® (x-2)3x-1)=0



x—2 x+3
3 X

a b

c

A e ot

26. =ad-bc & T, = —8x+ 31 & T=351E= x 9

® -1 @ -2 ® -3 @ —4 ® -5



SA) Rel5el L7

RE L

o =
K3

=i

27. o



o8

ojn

7

1t ol4be] A

ol 3

£ 5 54 Aololi

=

@ Az o

o,

5

A

ES
@ w"HA|

o

o ol

ol

v

o Zol7} o o] o}

=
=

5 olct,



x+7

29. x=3++2 4 o,
x—-3

o e

D -1+5v2 @ 1-3v2 ® 1+5V2
@ 2422 ® 2452



ol

of

TA
24

ok

ol
V3 ¥
=A

V12 =

3 —
V27

i

+



1 1 1

31. + o e
1+vV2 V2+ V3 V8+ V9

£ Axtsha?

@® 6 @ 5 ® 4 @ 3



32.

@ 27xy

@ nxy?

® 27x%y



33. (x-2)x2-3(x-2)x—-10(x-2) & SE3|stH?

D (x-2)(x-5)(x+2) @ (x=2)(x+5)(x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)



